DO NOW

Six times the square of a number decreased by 5 times the
number equals 1. Find the negative solution.
let x= number

bx*—5x=|
6’%1—5)(—f:O
(b D(x-1 =0
bxs1=0 or x-1=0
ﬂ:x:-ll x=\
X=% vi’ec‘f
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_”r\e h@gﬁﬂt S@\M

Page 1

1. An object is launched straight up in the air with an initial velocity of 32 feet
per second from a roof 48 feet high. Use the function:

h(t) = 16 +32¢+48

a. After how many seconds will it reach the maximum height?

‘L’: —2—12_ T+ will reach Hne
LoT32 1= maximum height
2Ci6) afer 1 second.
4=
32

b. What will be the maximum height?

2%'%:"|6(l)2+31(1)+%? The maximum
N="lb+32 4148 dxrme
hD= lo+ag l'\e(;M‘Is b4 feet.
h()= oH
c. When will it hit the ground?
T4 Wit the Srou.hd
after R seconds.

O =234+ 48

o132t~ 0820
o (42t -3)=(
WG XE-3)= 3=
res, , 1620 t1=0 or ¥-3=0
i’ '1)6‘%\ —_ =7 =3
Page 3

HOMEWORK

Worksheet - HW 8.9
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8.9 Modeling with ratic £ ion
Word Problems with quadratic equations

# Rofop to section §3 Word Froblems

height bl 5
R sie Form: h ()=~ 16424vE +h

1. Asked $or when i+ reaches maximum he5h+
\—3) Lind Hhe ax’is of SléYY\YY\&"’T‘\(
=
2. Asked For maximum helghd
Ly Pind Hhe \[—\lo.\u\e of He "l’urr\iv\% Po],q‘]-
# Plug abowe t into ecbuoﬁmq
3. Agked When - reaches the Tomo\.(he‘lah%—:oB
> Set eobwdﬂov\ Q(le Yo %
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2. Afootball is kicked upward from ground level with an initial velocity of 32
feet per second. The following function gives the height of the ball in feet

after 7 seconds. h(t) _ _ 16t2 +32¢

a. What is the maximum height reached by the football?
t=22  hO=160)+32(D

L=32 hi) ==k +32, The maximum
2¢-16) =
chz_f_;b hQ = I height is 1 feeh.

t=1

b. After how many seconds does the ball touch the ground?

Ozl—llot%%z{:

[bt=32t=0 T+ touches the

bt @-2)=0 ) rond after 2 Seconds,
t=0 or %:CZjO
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